

A NOTE ON DEGENERATE GAMMA FUNCTION AND DEGENERATE STIRLING NUMBER OF THE SECOND KIND

TAEKYUN KIM AND GWAN-WOO JANG

ABSTRACT. Recently, degenerate gamma function was introduced in [5]. In this paper, we investigate some properties of the degenerate gamma function and give some functional equations for the degenerate gamma function. In addition, we derive some identities for the degenerate Stirling number of the second kind associated with degenerate gamma function.

1. Introduction

It is well known that the gamma function is defined as

$$\Gamma(s) = \int_0^\infty t^{s-1} e^{-t} dt, \text{ where } s \in \mathbb{C} \text{ with } \operatorname{Re}(s) > 1. \quad (1.1)$$

Thus, we note that

$$\Gamma(s+1) = s\Gamma(s), \Gamma(n+1) = n!, \quad (n \in \mathbb{N}), \quad (\text{see [1, 5, 6, 7, 8]}). \quad (1.2)$$

The degenerate exponential function $e_\lambda(t)$ is a function of two variables $\lambda \in (0, \infty)$ and $t \in \mathbb{R}$ defined as

$$e_\lambda(t) = (1 + \lambda t)^{\frac{1}{\lambda}}, \quad (\text{see [5]}). \quad (1.3)$$

Note that $\lim_{\lambda \rightarrow 0} e_\lambda(t) = e^t$. From (1.1), we note that

$$\begin{aligned} \Gamma(z) &= \lim_{n \rightarrow \infty} \int_0^n \left(1 - \frac{t}{n}\right)^n t^{z-1} dt \\ &= \lim_{n \rightarrow \infty} n^z \sum_{k=0}^n \binom{n}{k} (-1)^k \frac{1}{z+k} \\ &= \lim_{n \rightarrow \infty} \frac{n! n^z}{z(z+1) \cdots (z+n)}, \quad (z \neq 0, -1, -2, \dots). \end{aligned} \quad (1.4)$$

2010 *Mathematics Subject Classification.* 11B68; 11S80.

Key words and phrases. degenerate gamma function, degenerate Stirling number .

Recently, the degenerate gamma function for the complex variables with $0 < \operatorname{Re}(s) < \frac{1}{\lambda}$ was defined as

$$\Gamma_{\lambda}(s) = \int_0^{\infty} e_{\lambda}^{-1}(t)t^{s-1}dt = \int_0^{\infty} (1 + \lambda t)^{-\frac{1}{\lambda}}t^{s-1}dt, \quad (\text{see [5]}). \quad (1.5)$$

From (1.5), we have

$$\Gamma_{\lambda}(s+1) = \frac{s}{(1-\lambda)^{s+1}}\Gamma_{\frac{\lambda}{1-\lambda}}(s), \quad (\text{see [5]}), \quad (1.6)$$

where $\lambda \in (0, 1)$ and $0 < \operatorname{Re}(s) < \frac{1-\lambda}{\lambda}$.

For $\lambda \in \mathbb{R}$, the degenerate Stirling number of the second kind is defined by the generating function to be

$$\frac{1}{k!} \left((1 + \lambda t)^{\frac{1}{\lambda}} - 1 \right)^k = \sum_{n=k}^{\infty} S_{2,\lambda}(n, k) \frac{t^n}{n!}, \quad (\text{see [3, 4, 5]}), \quad (1.7)$$

where $k \in \mathbb{N} \cup \{0\}$. Thus by (1.7), we get $\lim_{\lambda \rightarrow 0} S_{2,\lambda}(n, k) = S_2(n, k)$, ($n, k \geq 0$), where $S_2(n, k)$ are the Stirling numbers of the second kind.

In this paper, we investigate some properties of degenerate gamma function and give some formulas related to Stirling numbers.

In addition, we also give some identities for the degenerate Stirling numbers of the second kind associated with degenerate gamma function.

2. Degenerate gamma function

From (1.6), we note that

$$\begin{aligned} \Gamma_{\lambda}(k) &= \frac{(k-1)!}{(1-\lambda)(1-2\lambda)\cdots(1-k\lambda)} = \frac{\Gamma(k)}{(1-\lambda)(1-2\lambda)\cdots(1-k\lambda)} \\ &= \frac{1}{k} \frac{k!}{(1-\lambda)(1-2\lambda)\cdots(1-k\lambda)} = \frac{1}{k} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} \frac{l^k}{(1-\lambda l)}, \end{aligned} \quad (2.1)$$

where $k \in \mathbb{N}$ and $\lambda \in (0, \frac{1}{k})$. It is not difficult to show that

$$\Gamma_{-\lambda}(k) = \frac{(k-1)!}{(1+\lambda)(1+2\lambda)\cdots(1+k\lambda)}, \quad \text{where } -\lambda \in (-\frac{1}{k}, 0).$$

The difference operator Δ is defined as

$$\Delta f(x) = f(x+1) - f(x).$$

From (2.1), we have

$$\begin{aligned} \Gamma_\lambda(k) &= \frac{1}{k} \sum_{m=0}^{\infty} \lambda^m \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} l^{k+m} \\ &= (k-1)! \sum_{m=0}^{\infty} \lambda^m \frac{1}{k!} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} l^{k+m} \\ &= (k-1)! \sum_{m=0}^{\infty} \lambda^m \frac{1}{k!} \Delta^k 0^{k+m} = (k-1)! \sum_{m=0}^{\infty} \lambda^m S_2(k+m, k). \end{aligned} \tag{2.2}$$

Therefore, by (2.2), we obtain the following theorem

Theorem 2.1. For $k \in \mathbb{N}$ and $\lambda \in (0, \frac{1}{k})$, we have

$$\begin{aligned} \Gamma_\lambda(k) &= \frac{1}{k} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} \frac{l^k}{(1-\lambda l)} = (k-1)! \sum_{m=0}^{\infty} \lambda^m S_2(k+m, k) \\ &= \frac{1}{k} \sum_{m=0}^{\infty} \lambda^m \Delta^k 0^{k+m}. \end{aligned}$$

For $k \in \mathbb{N}$ and $\lambda \in (0, \frac{1}{k})$, we observe that

$$\begin{aligned} \left(\frac{d}{d\lambda}\right)^r \Gamma_\lambda(k) &= \left(\frac{d}{d\lambda}\right)^r \left(\frac{\Gamma(k)}{(1-\lambda)(1-2\lambda)\cdots(1-k\lambda)}\right) \\ &= \frac{1}{k} \left(\frac{d}{d\lambda}\right)^r \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} \frac{l^k}{(1-\lambda l)} \\ &= \frac{1}{k} r! \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} \frac{l^{k+r}}{(1-\lambda l)^{r+1}}. \end{aligned} \tag{2.3}$$

Thus, by (2.3), we get

$$\left(\frac{d}{d\lambda}\right)^r \Gamma_\lambda(k) = \frac{r!}{k} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} \frac{l^{k+r}}{(1-\lambda l)^{r+1}}. \tag{2.4}$$

Now, we define the following notation:

$$\Gamma_0^{(r)}(k) = \left(\frac{d}{d\lambda}\right)^r \Gamma_\lambda(k) \Big|_{\lambda=0}, \quad (r \in \mathbb{N}). \tag{2.5}$$

Then, by (2.4) and (2.5), we get

$$\begin{aligned} \Gamma_0^{(r)}(k) &= \frac{r!}{k} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} l^{k+r} \\ &= \frac{r!k!}{k} \frac{1}{k!} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} l^{k+r} \\ &= \frac{(k+r-1)!}{\binom{k+r-1}{r}} \frac{1}{k!} \Delta^k \mathbf{0}^{k+r} = \frac{(k+r-1)!}{\binom{k+r-1}{r}} S_2(k+r, k). \end{aligned} \tag{2.6}$$

Therefore, by (2.6), we obtain the following theorem.

Theorem 2.2. For $r, k \in \mathbb{N}$ and $\lambda \in (0, \frac{1}{k})$, we have

$$\Gamma_0^{(r)}(k) = \frac{(k+r-1)!}{\binom{k+r-1}{r}} S_2(k+r, k).$$

For $k \in \mathbb{N}$ and $\lambda \in (0, \frac{1}{k})$, we note that

$$\begin{aligned} \Gamma_\lambda(k)\Gamma_{-\lambda}(k) &= \frac{\left((k-1)!\right)^2}{(1-\lambda^2)(1-(2\lambda)^2)\cdots(1-(k\lambda)^2)} \\ &= (-1)^k \frac{\left((k-1)!\right)^2}{\lambda^{2k} 1^2 2^2 \cdots k^2} \times \frac{1}{\left(1-\frac{1}{\lambda^2}\right)\left(1-\left(\frac{1}{2\lambda}\right)^2\right)\cdots\left(1-\left(\frac{1}{k\lambda}\right)^2\right)} \\ &= (-1)^k \frac{\lambda^{-2k}}{k^2} \times \frac{1}{\left(1-\left(\frac{1}{\lambda}\right)^2\right)\left(1-\left(\frac{1}{2}\right)^2\right)\cdots\left(1-\left(\frac{1}{k}\right)^2\right)} \\ &= \frac{(-\lambda^{-2})^k}{k^2} \frac{\prod_{n=1}^\infty \left(1-\left(\frac{1}{n+k}\right)^2\right)}{\prod_{n=1}^\infty \left(1-\left(\frac{1}{n}\right)^2\right)} \\ &= \frac{(-\lambda^{-2})^k}{k^2} \frac{\pi}{\sin \frac{\pi}{\lambda}} \prod_{n=1}^\infty \left(1-\left(\frac{1}{\lambda(n+k)}\right)^2\right) \end{aligned} \tag{2.7}$$

From (2.7), we have

$$\begin{aligned} \Gamma_\lambda(k)\Gamma_{-\lambda}(k) &= \frac{(-1)^k}{k^2} \lambda^{-2k-1} \frac{\pi}{\sin \frac{\pi}{\lambda}} \prod_{n=1}^\infty \left(1-\left(\frac{1}{\lambda(n+k)}\right)^2\right) \\ &= \frac{(-1)^k}{k^2} \lambda^{-2k-1} \Gamma\left(\frac{1}{\lambda}\right) \Gamma\left(1-\frac{1}{\lambda}\right) \prod_{n=1}^\infty \left(1-\left(\frac{1}{\lambda(n+k)}\right)^2\right). \end{aligned}$$

Therefore, we obtain the following theorem.

Theorem 2.3. For $r, k \in \mathbb{N}$ with $\lambda \in (0, \frac{1}{k})$, we have

$$\Gamma_\lambda(k)\Gamma_{-\lambda}(k) = \frac{(-1)^k}{k^2} \lambda^{-2k-1} \frac{\pi}{\sin \frac{\pi}{\lambda}} \prod_{n=1}^{\infty} \left(1 - \left(\frac{1}{\lambda(n+k)} \right)^2 \right)$$

In particular,

$$\frac{\Gamma_\lambda(k)\Gamma_{-\lambda}(k)}{\Gamma(\frac{1}{\lambda})\Gamma(1-\frac{1}{\lambda})} = \frac{(-1)^k}{k^2} \lambda^{-2k-1} \prod_{n=1}^{\infty} \left(1 - \left(\frac{1}{\lambda(n+k)} \right)^2 \right).$$

From (1.3), we note that

$$(1 + \lambda t)^{\frac{x}{\lambda}} = \left((1 + \lambda t)^{\frac{1}{\lambda}} - 1 + 1 \right)^x = \sum_{k=0}^{\infty} (x)_k \frac{1}{k!} \left((1 + \lambda t)^{\frac{1}{\lambda}} - 1 \right)^k, \tag{2.8}$$

where $(x)_0 = 1$, $(x)_k = x(x-1)\cdots(x-k+1)$, $(k \geq 1)$.

On the other hand

$$\begin{aligned} (1 + \lambda t)^{\frac{x}{\lambda}} &= \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n S_{2,\lambda}(n, k) (x)_k \right) \frac{t^n}{n!} \\ &= \sum_{k=0}^{\infty} \left(\sum_{n=k}^{\infty} S_{2,\lambda}(n, k) \frac{t^n}{n!} \right) (x)_k, \end{aligned} \tag{2.9}$$

where $(x)_{0,\lambda} = 1$, $(x)_{n,\lambda} = x(x-\lambda)(x-2\lambda)\cdots(x-(n-1)\lambda)$, $(n \geq 1)$.

From (2.8) and (2.9), we have

$$\sum_{n=k}^{\infty} S_{2,\lambda}(n, k) \frac{t^n}{n!} = \frac{1}{k!} \left((1 + \lambda t)^{\frac{1}{\lambda}} - 1 \right)^k, \tag{2.10}$$

and

$$(x)_{n,\lambda} = \sum_{k=0}^n S_{2,\lambda}(n, k) (x)_k, \quad (n \geq 0). \tag{2.11}$$

By (2.11), we easily get

$$S_{2,\lambda}(n+1, k) = S_{2,\lambda}(n, k-1) + kS_{2,\lambda}(n, k) - n\lambda S_{2,\lambda}(n, k), \tag{2.12}$$

where $n, k \geq 0$.

From (2.12), we can derive the following equations.

$$\begin{aligned}
S_{2,\lambda}(n+1, n) &= nS_{2,\lambda}(n, n) + S_{2,\lambda}(n, n-1) - n\lambda S_{2,\lambda}(n, n) \\
&= n(1-\lambda)S_{2,\lambda}(n, n) + S_{2,\lambda}(n, n-1) \\
&= n(1-\lambda) + S_{2,\lambda}(n, n-1) = n(1-\lambda) + (n-1)(1-\lambda) + S_{2,\lambda}(n-1, n-2) \\
&= \dots \\
&= n(1-\lambda) + (n-1)(1-\lambda) + \dots + (1-\lambda) + S_{2,\lambda}(1, 0) \\
&= \frac{n(n+1)}{2}(1-\lambda) = \binom{n+1}{2}(1-\lambda).
\end{aligned} \tag{2.13}$$

Thus, by (2.13), we get

$$S_{2,\lambda}(n+1, n) = \binom{n+1}{2}(1-\lambda), \quad (n \in \mathbb{N}). \tag{2.14}$$

Now, we observe that

$$\begin{aligned}
\sum_{n=k}^{\infty} S_{2,\lambda}(n, k) \frac{t^n}{n!} &= \frac{1}{k!} \left((1+\lambda t)^{\frac{1}{\lambda}} - 1 \right)^k = \frac{1}{k!} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} (1+\lambda t)^{\frac{l}{\lambda}} \\
&= \sum_{n=0}^{\infty} \left(\frac{1}{k!} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} (l)_{n,\lambda} \right) \frac{t^n}{n!} \\
&= \sum_{n=0}^{\infty} \frac{1}{k!} \Delta^k(0)_{n,\lambda} \frac{t^n}{n!}.
\end{aligned} \tag{2.15}$$

By (2.15), we get

$$\begin{aligned}
\frac{1}{k!} \Delta^k(0)_{n,\lambda} &= \frac{1}{k!} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} (l)_{n,\lambda} \\
&= \begin{cases} S_{2,\lambda}(n, k), & \text{if } n \geq k, \\ 0, & \text{otherwise.} \end{cases}
\end{aligned} \tag{2.16}$$

From (2.16), we have

$$\frac{1}{n!} \sum_{l=0}^n \binom{n}{l} (-1)^{n-l} (l)_{n+1,\lambda} = S_{2,\lambda}(n+1, n) = \binom{n+1}{2}(1-\lambda). \tag{2.17}$$

So, by (2.17), we get

$$\sum_{l=0}^n \binom{n}{l} (-1)^{n-l} (l)_{n+1,\lambda} = n! \binom{n+1}{2} (1-\lambda) = \frac{n(n+1)!}{2} (1-\lambda). \tag{2.18}$$

From the definition of $(x)_{n,\lambda}$, we have

$$\begin{aligned} (l)_{n+1,\lambda} &= l(l-\lambda)(l-2\lambda)\cdots(l-n\lambda) = l^{n+1}\left(1-\frac{\lambda}{l}\right)\left(1-\frac{2\lambda}{l}\right)\cdots\left(1-\frac{n\lambda}{l}\right) \\ &= l^{n+1}\frac{(n-1)!}{\Gamma_{\frac{\lambda}{l}}(n)}, \text{ where } \frac{\lambda}{l} \in \left(0, \frac{1}{n}\right). \end{aligned} \tag{2.19}$$

By (2.18), we get

$$\sum_{l=0}^n \binom{n}{l} (-1)^l l^{m+1} \frac{(n-1)!}{\Gamma_{\frac{\lambda}{l}}(n)} = \frac{1}{2} (-1)^n n(n+1)!(1-\lambda). \tag{2.20}$$

Therefore, by (2.20), we obtain the following theorem.

Theorem 2.4. For $n \in \mathbb{N}$ and $\lambda \in \left(0, \frac{1}{n}\right)$, we have

$$\sum_{l=0}^n \frac{\binom{n}{l} (-1)^l l^{m+1}}{\Gamma_{\frac{\lambda}{l}}(n)} = \frac{1}{2} (-1)^n n^2(n+1)!(1-\lambda).$$

Remark. Note that

$$\frac{1}{2} (-1)^n n^2(n+1) = \sum_{l=0}^n \binom{n}{l} (-1)^l l^{m+1}.$$

Thus, we have

$$\begin{aligned} \frac{1}{2} n(n+1) &= \frac{1}{n!} \sum_{l=0}^n \binom{n}{l} (-1)^{n-l} l^{n+1} \\ &= S_2(n, n+1). \end{aligned}$$

Remark. The research problem of degenerate gamma function for $\frac{1}{\lambda}$ is remained in this paper.

References

1. E. Artin, *The gamma function*, Translated by Michael Butler. Athena Series: Selected Topics in Mathematics Holt, Rinehart and Winston, New York-Toronto-London **1964** vii+39 pp.
2. T. Kim, D. S. Kim, G.-W. Jang, *Extended Stirling polynomials of the second kind and extended Bell polynomials*, Proc. Jangjeon Math. Soc. **20** (2017), no. 3, 365-376.
3. T. Kim, *A note on degenerate Stirling polynomials of the second kind*, Adv. Difference Equ. **2016**, Paper No. 32, 21 pp.
4. T. Kim *λ -analogue of Stirling numbers of the first kind*, Adv. Stud. Contemp. Math. (Kyungshang) **27** (2017), no. 3, 423-429.
5. T. Kim, D. S. Kim, *Degenerate Laplace Transform and degenerate gamma function*, Russ. J. Math. Phys. **24** (2017), no. 2, 241-248.
6. G. Rahman, K. S. Nisar, T. Kim, S. Mubeen, M. Arshad, *Inequalities involving extended k -gamma end k -beta function*, Proc. Jangjeon Math. Soc. **21** (2018), no. 1, 109-128.

7. P. Vassilev, *On the estimate from above for the remainder sum of certain series related to Euler's gamma function*, Adv. Stud. Contemp. Math. (Kyungshang) **24** (2014), no. 1, 109-128.
8. E. T. Whittaker, G. N. Watson, *A course of modern analysis. An introduction to the general theory of infinite processes and of analytic function: with an account of the principal transcendental function. Reprint of the fourth (1927) edition*. Cambridge Mathematical Library. Cambridge University Press, Cambridge, **1996**. vi+608 pp. ISBN:0-521-58807-3

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA

E-mail address: `tkkim@kw.ac.kr`

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA

E-mail address: `gwjang@kw.ac.kr`